Spare parts list ATE

Q1/2025

yar ;

Brakethrough Technology




Spare parts list ATE

Content

ATE TYpe 1000 ... e e e ee e e s e e e e e s se s e e e e e e e s e e e e e e reereees 3
ATE TYPE 1200 .....oooriiieiecceerrre e s e sssssen e e e s s s smmne e s e nnnes 4
ATETyYpe 1300 ... cceee e s e e s e s 5
[ = 2 6
[ = T ST 7
[ = 20 8
ATEType 1600 ......... e 9
[ = T I = ] SR 10
[ = T T 11
ATE Type 1800 .......cooiirerrccerrr e snr s sssnn e s snn e s smne s 12
(31220 {0 K900 s SR 13
FB 30 S/SR 2077 ... e s 14
[ = 20 | 0 SRR 16
FB 30 S/SR ...t r e r e e s nn e 17
Bleeding unit adapters .........ccccciiiiini s 19
BFT 320/320P ...t cee e s s e ssnn s ssnn e s 20
BFCS300 .......coiiieeerireee e s mr e s s sse e e s sne e e s e ssne e s smn e s mnn s 21
AST 3. Generation ..........ccccccmmrriinnnsrrrr e 22
ATE Handheld pipe flaring tool ..........ccoceiriiiiiiiirieeeeccee 23
Test and inspection equipment ........cccccoeecccceeeeen e scccneeeeen, 24
Piston return tool set ..o 26
Professional dual pipe-flaring tool ...........ccooeiiiiiriiiiiiiiicnne, 27
Manual impact screwdriver set .......cccccveiccccceeeee e 28
St T . 29
SEE 2 . nnn e nnnns 30
Set 2.1 s 31
] = N 32
SEE A ... nn e anns 33
= R 34
] = o - 35
1= = o S PR RTS 36
SeL B ... —————— 37

p © Continental Aftermarket & Services GmbH




Spare parts list ATE

ATE Type 1000

03.9302-1000.4 /7 740122

03.9302-9020.3 / 740242 03.9302-9001.3 / 740236 03.9302-9052.3 / 740254

03.9302-9021.3 / 740243

© Continental Aftermarket & Services GmbH 3



Spare parts list ATE

ATE Type 1200

03.9302-1200.4

O

03.9302-9001.3 / 740236 03.9302-9031.1 / 740246 03.9302-9020.3 / 740242

E

03.9302-9021.3 / 740243 03.9302-9052.3 / 740254

4

© Continental Aftermarket & Services GmbH




Spare parts list ATE

ATE Type 1300

03.9302-1300.4 / 740134

03.9302-9042.2 / 740250

03.9302-9020.3 7/ 740242 03.9302-9032.1 / 740247

© Continental Aftermarket & Services GmbH

03.9302-9001.3 / 740236

03.9302-9052.3 / 740254



Spare parts list ATE

FB 5e

03.9302-1500.4 / 740295

03.9302-9200.2 / 740264

03.9302-9003.3 7 740238 03.9302-9055.3 /7 740309 03.9302-9211.3 / 740266

03.9302-9260.3 /7 740308

6 © Continental Aftermarket & Services GmbH




03.9302-1502.4 / 740321

Spare parts list ATE

FB 5ev

03.9302-9003.3 7/ 740238

03.9302-9201.2 / 740298

03.9302-9203.2 / 740300

03.9302-9205.2 / 740302

03.9302-1507.3 / 740325 03.9302-1505.3 / 740326 03.9302-9211.3 / 740266 03.9302-1503.3 / 740324
e —— Y
L ==-% —
03.9302-9022.2 / 740244 5x20 mm M2/2A 250V 03.9302-9052.3 / 740254 03.9302-9019.2 / 740241
03.9302-1506.1 / 740333
© Continental Aftermarket & Services GmbH 7



Spare parts list ATE

FB 5p

03.9302-1350.4 / 740230

03.9302-9042.2 / 740250

03.9302-9020.3 7/ 740242

03.9302-9032.1 / 740247

03.9302-9001.3 / 740236 03.9302-9052.3 / 740254

© Continental Aftermarket & Services GmbH



Spare parts list ATE

ATE Type 1600

03.9302-1600.4 / 740171

s

03.9302-9070.3 / 740257 03.9302-9200.2 / 740264 03.9302-9022.2 / 740244 03.9302-9003.3 / 740238

© Continental Aftermarket & Services GmbH 9



FB 15-BF

03.9302-1650.4 / 740229

Spare parts list ATE

03.9302-9211.3 / 740266

03.9302-9200.2 / 740264

03.9302-9070.3 / 740257

—

5x20 mm M2/2A 250V

10

ry

03.9302-9250.1 / 740267 03.9302-9022.2 / 740244 03.9302-9052.3 / 740254 03.9302-9003.3 / 740238

© Continental Aftermarket & Services GmbH




03.9302-1660.4 / 740231

Spare parts list ATE

FB 15-M

03.9302-9200.2 / 740264

—

© Continental Aftermarket & Services GmbH

03.9302-9211.3 / 740266 03.9302-9070.3 / 740257 5x20 mm M2/2A 250V
&

03.9302-9250.1 / 740267 03.9302-9022.2 / 740244 03.9302-9053.3 / 740255 03.9302-9004.2 / 740239

11



Spare parts list ATE

ATE Type 1800

&

03.9302-1800.4 / 740197

O

03.9302-9002.3 /7 740237

03.9302-9031.1 / 740246

03.9302-9020.3 7/ 740242

—

—

03.9302-9052.3 / 740254

© Continental Aftermarket & Services GmbH

e

P 0
~ |
('™ 10‘_‘\" J

03.9302-9021.3 / 740243

TR TTT —
SO s

Wity NS

\\\‘\I

k3




Spare parts list ATE

FB 30 <2017

03.9302-3000.4 / 740273

03.9302-9212.3 / 740275 03.9302-9200.2 / 740264 03.9302-9231.3 / 740305 03.9302-9220.3 / 740303
> 06.2008
03.9302-9107.1 / 740311 03.9302-9250.1 / 740267 03.9302-9301.1 / 740290

.
/ '. .&hbuhh\

y

03.9302-9022.2 / 740244 03.9302-9240.3 / 740306 03.9302-9105.3 / 740274 03.9302-9420.3 / 740276

03.9302-9003.3 /7 740238

© Continental Aftermarket & Services GmbH 13




Spare parts list ATE

FB 30 S/SR <2017

03.9302-3010.4 / 740288
03.9302-3020.4 / 740297

L

03.9302-9213.3 / 740293 03.9302-9230.3 / 740304 03.9302-9231.3 / 740305 03.9302-9220.3 / 740303

T

03.9302-9251.3 / 740307 03.9302-9250.1 / 740267 03.9302-9301.1 / 740290 03.9302-9022.2 / 740244

\O(\_-.i i \

=
/ '. hL111=h:=\

y

03.9302-9240.3 /7 740306 03.9302-9105.3 / 740274 03.9302-9420.3 / 740276 03.9302-9003.3 / 740238

14 © Continental Aftermarket & Services GmbH



03.9302-3010.4 / 740288
03.9302-3020.4 / 740297

Spare parts list ATE

FB 30 S/SR <2017

- G @
~ \
L
03.9302-9300.2 / 740291 03.9302-9106.1 / 740289 03.9302-9304.3 / 740332 03.9302-9302.2 / 740292
> 06.2008 .
03.9302-9200.2 / 740264 03.9302-9107.1 / 740311 03.9302-9303.3 / 740294 03.9302-1503.3 / 740324

© Continental Aftermarket & Services GmbH



FB 30

03.9302-3005.4 / 740312

Spare parts list ATE

03.9302-9216.3 /7 740320

03.9302-9105.3 / 740274

03.9302-9250.1 / 740267

03.9302-9214.3 / 740318

03.9302-9022.2 / 740244

03.9302-9240.3 / 740306

.
/ '. .&bbbhh\

y

03.9302-9420.3 / 740276

O

03.9302-9301.1 / 740290

03.9302-9003.3 / 740238

03.9302-9201.2 / 740298

16

03.9302-9203.2 / 740300

03.9302-9205.2 / 740302

© Continental Aftermarket & Services GmbH

03.9302-9107.1 / 740311

S = 7




Spare parts list ATE

FB 30 S/SR

03.9302-3015.4 / 740313

03.9302-3025.4 / 740314

03.9302-9216.3 /7 740320 03.9302-9105.3 7 740274

03.9302-9250.1 / 740267 03.9302-9215.3 / 740319 03.9302-9240.3 / 740306

g
/ '. hL111=h:=\

y

03.9302-9420.3 / 740276 03.9302-9003.3 / 740238 03.9302-9301.1 / 740290

© Continental Aftermarket & Services GmbH 17




Spare parts list ATE

FB 30 S/SR

03.9302-3015.4 / 740313
03.9302-3025.4 / 740314

-

03.9302-9300.2 7 740291

03.9302-1503.3 7 740324

=

L

03.9302-9302.2 / 740292

{.”l

03.9302-9106.1 /7 740289

(]

03.9302-9107.1 / 740311

03.9302-9303.3 / 740294

03.9302-9205.2 /7 740302

03.9302-9201.2 / 740298

03.9302-9304.3 / 740332

© Continental Aftermarket & Services GmbH

N

03.9302-9203.2 / 740300




Spare parts list ATE

O
19 03.9302-0920.2 740113 - D26 x4 03.9302-0914.3 740330
20 03.9302-0702.2 740010 - @48 x P 23x3 03.9302-0702.3 740327
20S 03.9302-0948.2 740280 - D48 x D23 x3 03.9302-0702.3 740327
27 03.9302-0703.2 740011 - @48 x P23 x3 03.9302-0702.3 740327
32 03.9302-0919.2 740112 - @80xJ45x%x3 03.9302-0736.3 740328
34 03.9302-0928.2 740121 - @80x45x3 03.9302-0736.3 740328
35 03.9302-0916.2 740109 - d26x4 03.9302-0914.3 740330
37 03.9302-0736.2 740039 - @80x245x3 03.9302-0736.3 40328
38A 03.9302-0740.2 740042 - D48x P23 x3 03.9302-0702.3 40327
41 03.9302-0786.2 740073 - @80xJ45x%x3 03.9302-0736.3 740328
43 03.9302-0774.2 740063 - D26 x4 03.9302-0914.3 740330
49 03.9302-0746.2 740044 - @48 x P23 x3 03.9302-0702.3 740327
55A 03.9302-0906.2 740097 - @80xd15x3 03.9302-0906.3 740329
61A 03.9302-0923.2 740116 - @25x5 03.9302-0923.3 740331
76 03.9302-0734.2 740038 - @48x P 23x3 03.9302-0702.3 740327
77 03.9302-0914.2 740107 - D26 x4 03.9302-0914.3 740330
77A 03.9302-0938.2 740220 - d26x4 03.9302-0914.3 740330
83 03.9302-0939.2 740221 - D26 x4 03.9302-0914.3 740330
© Continental Aftermarket & Services GmbH 19




Spare parts list ATE

BFT 320/320P

03.9311-0080.4 / 730071
03.9311-0085.4 / 730077

\
03.9311-0096.3 /7 730079 03.9311-0093.3 7 730076 03.9311-0090.3 7 730075 03.9311-0095.3 / 730078

20 © Continental Aftermarket & Services GmbH




Spare parts list ATE

BFCS300

03.9311-0073.4 / 730085

/

X C 8

03.9311-0096.3 /7 730079 03.9311-0072.1 /7 730061 03.9302-9205.2 / 740302 03.9311-0074.2 / 730084

03.9311-0019.2 / 730066

© Continental Aftermarket & Services GmbH 21




Spare parts list ATE

AST 3. Generation

N/ :

03.9301-0110.4 / 760132

03.9301-0113.2 / 760137

22 © Continental Aftermarket & Services GmbH




03.9310-0016.4 / 760155

Spare parts list ATE

Handheld pipe flaring tool

4,75/5 mm SAE

6 mm SAE

4,75/5 mm DIN

6 mm DIN

03.9310-0025.1 / 760237 | 03.9310-0023.1 / 760235

4,75-6 mm SAE OP2

03.9310-0024.1 /760236 | 03.9310-0022.1 / 760234 | 03.9310-0026.1 / 760238 | 03.9310-0019.2 / 760231

4,75 mm

5mm
03.9310-0020.2 / 760232 |
6 mm
03.9310-0021.2 / 760233 |

M12x 1,25

03.9310-0017.1 /760229 | 03.9310-0018.1 / 760230

© Continental Aftermarket & Services GmbH

M20 x2

23



Spare parts list ATE

03.3518-0900.2
390345
M10 x 1 i

S 7, 120 N\
46T ao 1607 %,

N
o
8
S

\u\\m’m,/”//
N
o]

A
& \
a
o

\\\\\\‘\l
2
I'/’"//anu\m

N\
N

N

o

//// /
o

/

O ) /
03.9305-0200.4 / 730029
03.3518-0900.2 83.7701-1500.3
390345 331205
l\/|10x1i 1500 mm
\U/ \

1

DIN 7603 Cu A 10x16 ~—----------- e 03.5003-0100.2
§ | 990009

M10 x 1 M10 x 1 M18 x 1,5 M18 x 1,5

03.9305-0140.2 / 730020 |

M6 03.9305-0140.1 / 730019 1/4" 28 UNF 03.9305-0111.1 /730012 o
M7 03.9305-0141.1 / 730021 5/16" 20 UN 03.9305-0120.1 /730018 o
M8 03.9305-0142.1 / 730022 3/8" 20 UN 03.9305-0119.1 /730017 =
M10x 1 03.9305-0143.1 / 730023 3/8" 24 UNF 03.9305-0113.1 /730014 S
M10x 1.25 03.9305-0144.1 / 730024 7/16" 20 UNF 03.9305-0114.1 /730015 -

M12 x 1 03.9305-0145.1 / 730025
M12x 1.5 03.9305-0146.1 / 730027

® ‘ +49 (0)69 / 150 40 150 @ ate.hotline@continental.com

24 © Continental Aftermarket & Services GmbH




Spare parts list ATE
Spare part lists

03.3518-0900.2 ﬂ 03.3518-0900.2
390345 | 390345 03.9305-1033.2

M10x1 | | M10x 1 730039 |

--03.9305-0162.1 @_&@U

i
KD

g
W . \ "y "Yuy,
R 7" 7 M,

S/ %, \D S/ NV 120 Z]
ONao 1807 %, Nao 160/"22
] = =
‘ I ; ER) 200 —= @
> N
% 240 §

4

g \\“\\ml"w"'?"% € \“\\uurm’,,,y »

N N 7
S g\ 4 6 ’;',,;1 @ S Ss\ 06 -04 ’},2 @
£ E s g
___ £2 8% £ -08 027
P 10, Ny s 1,0 Ny

@ @
J J

03.9305-1020.4 / 730032

03.9305-1025.0 03.9305-1025.0

03.9305-1032.0 ---

730035 R e —— 730036 730036 --------—
M18 x 1,5 Schlauch M10 x 1 beiderseits - 3000 mm lang i
5 03.9305-1026.0 !
.1 730087 !
X 1 |
H ! |
] @E
P i
| M10x 1 :
! -M10 x 1
DIN 7603 D@
Cu A 10x16 i
03.9305-1045.2
730045
03.9305-0140.2 / 730020 |
M6 03.9305-0140.1 /730019
M7 03.9305-0141.1 / 730021
M8 03.9305-0142.1 / 730022
M10 x 1 03.9305-0143.1 / 730023
M10 x 1.25 03.9305-0144.1 / 730024 2
M12 x 1 03.9305-0145.1 / 730025 %
M12x 1.5 03.9305-0146.1 / 730027 =
x
1/4" 28 UNF 03.9305-0111.1 /730012 B
5/16" 20 UN 03.9305-0120.1 / 730018
3/8" 20UN 03.9305-0119.1 /730017
3/8" 24 UNF 03.9305-0113.1 /730014 J v/ J

03.9305-1050.1
730082

@ ‘ +49 (0)69 / 150 40 150 @ ate.hotline@continental.com
© Continental Aftermarket & Services GmbH 25




Spare parts list ATE

Piston return tool set

03.9314-4999.4 / 760133

03.9 A4-4198 50 SW13@30,6mm @47,7mm

9314-498 60114 03.9314-4984 60

03.9314-498 60

03.9314-4985.1 /760116 | 03.9314-4986.1 /760117 | 03.9314-4987.1 /760118 | 03.9314-4988.1 /760119 |

@42 mm @ 55,5 mm 2 50,8 mm @ 30 mm
03.9314-4989.1 / 760120 | 03.9314-4990.1 /760121 | 03.9314-4991.1 /760122 | 03.9314-4992.1 / 760123

@32 mm

03.9314-4993.1 / 760124

Pl © Continental Aftermarket & Services GmbH




Spare parts list ATE

Professional dual pipe-flaring tool

&E’“‘x
o~

03.9310-0001.4 7 760012 03.9310-0015.4 7 760134

SAE-E 4,75 mm 03.9310-0010.2
6,00 mm 03.9310-0011.2
8,00 mm 03.9310-0012.2
10,00 mm

760077 |03.9310-0005.1| 760019 |03.9310-0006.1|
760078 |03.9310-0002.1| 760013 |03.9310-0006.1| 760021
760079 |03.9310-0003.1| 760015 |03.9310-0007.1| 760022

760021

03.9310-0013.2 ‘ 760080 [03.9310-0004.1| 760017 |[03.9310-0007.1| 760022

SAE-F 4,75 mm 03.9310-0010.2 760077 | 03.9310-0005.1 | 760019
6,00 mm 03.9310-0011.2 760078 [03.9310-0002.1| 760013
8,00 mm 03.9310-0012.2 760079 | 03.9310-0003.1| 760015
10,00 mm

03.9310-0013.2 760080 [03.9310-0004.1( 760017

DIN-F 4,75 mm

03.9310-0014.2 760081 [03.9310-0005.1| 760019

© Continental Aftermarket & Services GmbH 27




Spare parts list ATE

Manual impact screwdrive

03.9314-0050.3-02 / 760170

Bit Kreuz PH3

Bit Kreuz PH4 Bit Kreuz PZ3 Bit T30 Bit T40
03.9314-0055.1-02 / 760207|03.9314-0056.1-02 / 760208|03.9314-0057.1-02 / 760209|03.9314-0058.1-02 / 760210)

Bit T45 Bit T50
03.9314-0059.1-02 / 760211]03.9314-0060.1-02 / 760212

28 © Continental Aftermarket & Services GmbH




Spare parts list ATE

Set 1

03.9314-1330.4 / 760109

03.9314-1331.1 / 760125

© Continental Aftermarket & Services GmbH 29




Spare parts list ATE

Set 2

8478

03.9314-1340.4 / 760110

03.9314-1341.1 / 760126

30

03.9314-1342.1 / 760127

© Continental Aftermarket & Services GmbH




Spare parts list ATE

Set 2.1

03.9314-1340.4 / 760182

®°ee | o¢°°

03.9314-1345.1 / 760184 03.9314-1344.1 / 760183

© Continental Aftermarket & Services GmbH 31




Spare parts list ATE

Set 3

03.9314-1350.4 / 760111

© o

03.9314-1351.1 / 760128

32 © Continental Aftermarket & Services GmbH




03.9314-1370.4 [760156]

Spare parts list ATE

Set 4

03.9314-1371.3 / 760157 03.9314-1378.3 / 760168 03.9314-1376.3 / 760166 03.9314-1374.3 / 760160
& & A - & O
e ® e e @ “ "X B & - v
03.9314-1375.3 / 760165 03.9314-1377.3 /760167 03.9314-1373.3 / 760159 03.9314-1372.3 /760158
© Continental Aftermarket & Services GmbH 33



Spare parts list ATE

Set5

03.9314-1332.4 / 760221

03.9314-1333.1 / 760222

© Continental Aftermarket & Services GmbH



Spare parts list ATE

Set 6

03.9314-1334.4 / 760240

03.9314-1335.1 / 760241

© Continental Aftermarket & Services GmbH 35




Spare parts list ATE

Set7

03.9314-1336.4 / 760246

03.9314-1337.3 / 760247

36 © Continental Aftermarket & Services GmbH




Spare parts list ATE

Set 8

03.9314-1338.4 / 760254

03.9314-1339.3 / 760255

© Continental Aftermarket & Services GmbH 37




SZ/¥0/ HOWD SIDIAISS g 13IeWISY [PIUSUALOD) @




	Titelseite
	English
	1 ATE Type 1000
	2 ATE Type 1200
	3 ATE Type 1300
	4 FB 5e
	5 FB 5ev
	6 FB 5p
	7 ATE Type 1600
	8 FB 15-BF
	9 FB 15-M
	10 ATE Type 1800
	11 FB 30 <2017
	12 FB 30 S/SR <2017
	13 FB 30
	14 FB 30 S/SR
	15 Bleeding unit adapters
	16 BFT 320/320P
	17 BFCS300
	18 AST 3. Generation
	19 ATE Handheld pipe flaring tool
	20 Test and inspection equipment
	21 Piston return tool set
	22 Professional dual pipe-flaring tool
	23 Manual impact screwdriver set
	24 Set 1
	25 Set 2
	26 Set 2.1
	27 Set 3
	28 Set 4
	29 Set 5
	30 Set 6
	31 Set 7
	32 Set 8


